HERKULESBUBEN
L X X K2

RANGLISTE MITGLIEDER +

(MITGLIEDER MIND. 36% GESPIELTE SERIEN)

88. SPIELABEND AM 29.10.21

DI. 26. OKTOBER FR. 29. OKTOBER GESPIELTE SERIEN VERL

RANG NAME SCHNITT) + /- || GEW|VERL GEG
1.SER.|2.SER.| GES. ||1.SER.|2.SER.| GES. || A | V | %

= |LOHSE, M. 4 | 6 1.110 10,3 1,0 | 5,2

1 | = |BAUCKLOH, A. 0 | 86 | 51% | 1.048 11,2 1,4 | 3,8

2 | = |BAUCKLOH, W. T 0 | 82 | 48% | 1.010 9,5 [ 0,7 | 40

= |BRAUNHAHN 2 2 |31 994 12,0 2,5 | 4,0

= [RUHKAMP § 4 | 21 985 11,7 2,9 | 4,5

3 | = |KURING £ 6 | 88 | 55% | 965 10,9 1,9 | 3,4

= |[HONAUER = 4 | 54 957 10,6 | 1,9 | 3,8

4 | = [KNOFEL g 0 |119] 70% | 944 10,9 2,1 | 3,0

= |GLAGOW §° 6 |121 ] 7a% | 940 101 1,7 | 3,9

= [V.ROOS $ 0 |84 |4a9%| 935 10,4 | 1,8 | 3,3

= [MAuUL & 4 | 23 923 96 [ 1,7 | 55

= |BREITFELD & a |20 906 95 | 1,9 |42

= |WINTER %’ o | 13 901 10,8 | 2,5 | 3,1

= |GESSNER g 4 | 24 892 92 (1,7 |48

7 | = |DELLITH _§ 4 | 167 |100%| 828 87 |14 |40

= |[KEIM s 4 | 16 827 76 | 1,4 | 6,0

= |SKWARSKI 2 2 | 8 826 11,3 2,6 | 5,0

8 | = |GANTE 4 |166 |100%| 808 10,2 2,7 | 31

= [KUDERLING 2 [103]|62% | 792 82 |16 |36

= [FLOTER 0 |52 790 89 |17 |30

= [KRATZSCH 2 | 42 770 75|11 |37

10 | = [KOSSINGER 2 |92 |55%)| 737 7,2 |10 |40

11| = |PORTER 2 |78 |47%| 711 80 |16 |31

= ust 0 | 12 704 84 |18 |28

= |BLAUERT, A. 4 | 19 536 51|12 |45

= |BOHM - 1% | 1.270 16,0 | 2,0 | 2,0

= |DANNER - 5% | 1.233 13,5] 2,0 | 48

= [TRIEB - 5% | 1.090 10,8 | 1,8 | 4,9

= |LANGER - |16 | 9% | 872 91|14 |45

= |BOLTE - | 8 | 5% | 697 99 |31 |35

= |WIESER . 1% | 456 9,0 |35 |30

DURCHSCHNITT | 886 99 |19 |39




